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ÿoˆÁTˆ„EıÁw¯Ã[˝ YÁPˆy‘] ( P. G.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

L«X, 2017 
Social Work 

ªJÙT«ˆUÔ Yy [ 4th Paper : Man And Society ]  
( Sociology / Indian Economic System ) 

a]Ã^  f ªªJÙÁÃ[˝ H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 4 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 80% ) 
( Weightage of Marks : 80% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

( Sociology ) 
( Full Marks : 50 ) 

◊[˝\ˆÁG - Eı 
Group - A 

   Â^-ÂEıÁ„XÁ AEı◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX*  
     Answer any one question.  18 × 1 = 18  
1. LÁ◊Tˆ Y“UÁ ◊Eı ? \ˆÁÃ[˝Tˆ›Ã^ a]Á„L Ac˜O LÁ◊Tˆ Y“UÁÃ[˝ \…ˆ◊]EıÁÃ[˝ 

TˆÁdY^Ô Â[˝ÁMıÁX* %ÁYXÁÃ[˝ ]„Tˆ Ac˜O LÁ◊Tˆ Y“UÁÃ[˝ \…ˆ◊]EıÁÃ[˝ 
TˆÁdY^Ô ◊Eı XGÃ[˝ÁÃ^S, %ÁW˝«◊XEıTˆÁ C ◊[˝`üÁÃ^„XÃ[˝ Y“\ˆÁ„[˝ 
YÁ_‰ªRÙO ^Á‰¨K˜ ? [˝ÓÁFÓÁ EıÃ[˝”X* 

 What is caste system ? Explain the significance 
of its role in India. Do you think that the 
significance of this role of caste system is 
changing under the influence of urbanization, 
modernization and globalization ? 5 + 5 + 8 

2. ◊_Ü È[˝b]Ó [˝_„Tˆ ◊Eı Â[˝Á„MıX ? %ÁYXÁÃ[˝ W˝ÁÃ[˝SÁÃ^ 
%ÁW˝«◊XEıTˆÁ ◊Eı ◊_Ü È[˝b„]ÓÃ[˝ %◊[˝ªJÙÁÃ[˝ Eı]Á„Tˆ ÂY„Ã[˝‰ªK˜ ? 
=Y^«N˛ EıÁÃ[˝Sac˜ =w¯Ã[˝ ◊VX* 

 What do you understand by gender 
discrimination ? Do you think modernization has 
been able to reduce the injustices of gender 
discrimination ? Give substantial reasons for 
your answer. 6 + 2 + 10 

◊[˝\ˆÁG - F 
Group - B 

   Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX*  

   Answer any two questions.  12 × 2 = 24  
3. aÁ]Á◊LEı›EıÃ[˝S [˝_„Tˆ ◊Eı Â[˝Á„MıX ? aÁ]Á◊LEı ◊[˝ªJ«ÙÓ◊Tˆ„Tˆ 

aÁ]Á◊LEı›EıÃ[˝„SÃ[˝ Y“\ˆÁ[˝ ◊Eı ? [˝ÓÁFÓÁ ◊VX* 
 What do you understand by socialization ? What 

is the impact of socialization on social deviance ? 
Explain. 4 + 8 

4. %ÁL„EıÃ[˝ ÊY“l˘ÁY‰ªRÙO ◊[˝[˝Ác˜ Y“◊TˆúˆÁX Eı›\ˆÁ„[˝ Y◊Ã[˝[˝◊Tˆ¤Tˆ c˜‰¨K˜ 
%Á„_ÁªJÙXÁ EıÃ[˝”X* ◊Eı W˝Ã[˝„XÃ[˝ ◊[˝◊\ˆ~ aÁ]Á◊LEı C 
%UÔÍX◊TˆEı EıÁÃ[˝Sa]…c˜ Ac˜O Y◊Ã[˝[˝Tˆ¤X Y“\ˆÁ◊[˝Tˆ Eı„Ã[˝‰ªK˜ ? 

 Discuss the ways in which the institution of 
marriage is changing today. What are the 
different social and economic causes that have 
influenced the changes ? 6 + 6 
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5. LXa]◊rÙÃ[˝ aep˚Á ◊VX* ◊Eı ◊Eı W˝Ã[˝„XÃ[˝ LXa]◊rÙ %Á‰ªK˜ ? Ac˜O 
◊\ˆ~ LXa]◊rÙÃ[˝ ]„W˝Ó aec˜◊Tˆ [˝ÁQÕˆ‰ªK˜ XÁ Eı]‰ªK˜ ? Ac˜O W˝Ã[˝„XÃ[˝ 
LXa]◊rÙÃ[˝ ]„W˝Ó aec˜◊Tˆ ÿöˆÁY„XÃ[˝ Yà˘◊Tˆ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

 Define community. What are the different types 
of community ? Is solidarity increasing or 
decreasing in these communities ? Suggest some 
measures to increase the solidarity among these 
communities. 3 + 3 + 6 

6. a]ÁLTˆ√º¯ C ]„XÁ◊[˝VÓÁÃ[˝ YÁÃ[˝&◊Ã[˝Eı a+EÔı %Á„_ÁªJÙXÁ 

EıÃ[˝”X* %ÁL„EıÃ[˝ ÊY“l˘ÁY‰ªRÙO Ac˜O a+„EÔıÃ[˝ mÃ[˝”±ºˆ %Á„_ÁªJÙXÁ 

EıÃ[˝”X* 

 Discuss the mutual relationship between 
sociology and psychology. Discuss the 
significance of this relationship in the present 
day situation. 6 + 6 

◊[˝\ˆÁG - G 
Group - C 

   Â^-ÂEıÁ„XÁ AEı◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX*  

    Answer any one question.  8 × 1 = 8 
7. ◊[˝◊\ˆ~ W˝Ã[˝„XÃ[˝ YÁ◊Ã[˝[˝Á◊Ã[˝Eı ◊c˜eaÁÃ[˝ =YÃ[˝ AEı◊ªRÙO ae◊l˘ä 

ªRÙO›EıÁ ◊_F«X* 
 Write a short note on different kinds of Domestic 

violence. 8 

8. ◊`£`“] EıÁ„Eı [˝„_ ? ◊`£`“„]Ã[˝ EıÁÃ[˝Sm◊_ ◊Eı ◊Eı ? 
 What is child labour ? What are the reasons     

for it ?  3 + 5 
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 ( Indian Economic System ) 

( Full Marks : 50 ) 

◊[˝\ˆÁG - Eı 

Group - A 

   Â^-ÂEıÁ„XÁ AEı◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX*  

   Answer any one question.  18 × 1 = 18 

1. a«b] C %a] =~Ã^X Tˆ√º¯V«◊ªRÙOÃ[˝ ]„W˝Ó Â^ Y“„\ˆV Ã[˝„Ã^‰ªK˜, TˆÁ 

%Á„_ÁªJÙXÁ EıÃ[˝”X* ÂEıÁ„XÁ AEı◊ªRÙO =~Ã^X`›_ ÂV„`Ã[˝ 

%UÔÍX◊TˆEı =~Ã^„X "a«b] =~Ã^X ÂEıÏ`_' Y“„Ã^Á„GÃ[˝ a«◊[˝W˝Á 

C %a«◊[˝W˝Ám◊_ ◊[˝‰`¿bS EıÃ[˝”X* 

 Distinguish between 'Balanced Growth' and the 

'Unbalanced Growth'. Analyse the advantages 

and disadvantages of balanced growth strategy 

for initiating economic development in developing 

countries. 10 + 8 

2. "%UÔÍX◊TˆEı [˝Ó[˝ÿöˆÁ' [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? Â^ a]ÿôˆ EıÁÃ[˝„SÃ[˝ 

LXÓ aÁ]‹ôˆTˆ„‹óˆÃ[˝ Y◊Ã[˝Y…SÔ \ˆÁÜX Y◊Ã[˝_◊l˘Tˆ c˜„Ã^◊ªK˜_ TˆÁ 

[˝SÔXÁ EıÃ[˝”X* ◊Eı\ˆÁ„[˝ A[˝e ◊Eı Y◊Ã[˝Y“◊l˘„Tˆ W˝XTˆÁ◊‹óˆEı [˝Ó[˝ÿöˆÁ 

Y ◊U[˝›Ã[˝ [˝ß ÂV„`Ã[˝ aÁ]‹ôˆTˆÁ◊‹óˆEı %UÔÍX◊TˆEı EıÁPˆÁ„]Á„Eı 

[˝Á◊Tˆ_ Eı„Ã[˝ AEı◊ªRÙO Y“W˝ÁX %UÔÍX◊TˆEı [˝Ó[˝ÿöˆÁ c˜„Ã^ =‰Pˆ◊ªK˜_ 

TˆÁ ◊[˝[˝ Tˆ EıÃ[˝”X* 

 What do you understand by 'economic system' ? 

Describe the factors that were responsible for the 

complete collapse of feudalism. How and under 

what circumstances feudalism was replaced by 

capitalism as the dominant economic system for 

a large number of countries ? 4 + 8 + 6 

◊[˝\ˆÁG - F 

Group - B 

   Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX*  

   Answer any two questions.  12 × 2 = 24 

3. "%UÔÍX◊TˆEı Y◊Ã[˝EıîXÁ' [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? \ˆÁÃ[˝Tˆ[˝„bÔÃ[˝ 

%UÔÍX◊TˆEı Y◊Ã[˝EıîXÁÃ[˝ a›◊]Tˆ aÁZı„_ÓÃ[˝ EıÁÃ[˝Sm◊_ [˝ÓÁFÓÁ 

EıÃ[˝”X* 
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 What is 'economic planning' ? What are causes 

for limited success of economic planning in  

India ? 4 + 8 

4. \ˆÁÃ[˝Tˆ[˝„bÔ E ı◊b %UÔX›◊TˆÃ[˝ =~Ã^„XÃ[˝ ]…_ _l˘Ó C 

=„ï`Óm◊_ ◊[˝[˝ Tˆ EıÃ[˝”X* Y◊Ã[˝EıîXÁEıÁ„_ \ˆÁÃ[˝Tˆ[˝„bÔÃ[˝ E ı◊b 

%UÔX›◊Tˆ Â^ a]ÿôˆ ]…_ a]aÓÁÃ[˝ a∂ˆÇ«F›X c˜„Ã^‰ªK˜ Âam◊_ 

◊[˝[˝ Tˆ EıÃ[˝”X* 

 What are the major aims and objectives of 

agricultural development in India ? State the 

major problems faced by Indian agriculture 

during the plan period. 6 + 6 

5. \ˆÁÃ[˝Tˆ[˝„bÔÃ[˝ Â[˝EıÁÃ[˝„±ºˆÃ[˝ EıÁÃ[˝Sm◊_ ae„l˘„Y %Á„_ÁªJÙXÁ 

EıÃ[˝”X* Ac˜O a]aÓÁ◊ªRÙO„Eı a]ÁW˝ÁX EıÃ[˝„Tˆ ◊Eı ◊Eı YV„l˘Y 

G–c˜S EıÃ[˝Á =◊ªJÙTˆ [˝„_ %ÁY◊X ]„X Eı„Ã[˝X ? 

 What are the major causes of the widespread 

unemployment in India ? Suggest some remedial 

measures to tackle this problem. 6 + 6 

6. ◊`îÁÃ^„XÃ[˝ a]aÓÁÃ[˝ =YÃ[˝ AEı◊ªRÙO XÁ◊TˆV›HÔ ªRÙO›EıÁ Ã[˝ªJÙXÁ EıÃ[˝”X* 

 Write a brief note on the problems of 

industrialization. 12 

◊[˝\ˆÁG - G 

Group - C 

   Â^-ÂEıÁ„XÁ AEı◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX*  

   Answer any one question.  8 × 1 = 8 

7. "ªJÙÃ[˝] VÁ◊Ã[˝V–Ó' A[˝e "%Á„Y◊l˘Eı VÁ◊Ã[˝V–Ó' [˝_„Tˆ ◊Eı Â[˝Á„MıX ?  

 What do you mean by 'absolute poverty' and 

'relative poverty' ? 8  

8. G–Á]›S A_ÁEıÁÃ̂  ÂEıÁXÀ ÂEıÁXÀ %Á[˝ÁaX aey‘Á‹ôˆ ◊[˝bÃ^m◊_Ã[˝ 

=YÃ[˝ ◊[˝„`b XLÃ[˝ ÂVCÃ^Á Y“„Ã^ÁLX ? 

 What are the major housing issues in rural areas 

which need special attention ? 8 

    


